3 tFEH. AORUVERE(T1-1)

SH5E10F1BIRTE)
sy § A 0 E AOEE
&t E ES (km?) (N/km?)
Ik B R 792,325 1,929,669 936,796 992,873 10,621.17 181.7
BN 88,164 217,240 106,981 110,259 834.19 260.4
ES BT 22,828 56,838 28,197 28,641 74.81 759.8
REs 40,968 98,594 48,408 50,186 87.60 1,125.5
IRETET 3,339 8,092 4173 3,919 12.89 627.8
Ly 2,013 5,688 2,773 2,915 16.82 338.2
JII3BHT 3,755 9,570 4,720 4,850 4118 2324
L RET 1,226 3,082 1,438 1,644 90.47 34.1
J\EEHT 3,675 9,644 4,631 5013 128.81 74.9
=Py 2,811 6,801 3,185 3,616 237.89 28.6
mAIF 758 1,915 912 1,003 87.11 220
i & T 6,791 17,016 8,544 8,472 56.61 300.6
4 FEHIRNAMAARVE(TI—2)
(5F5E1081HIRA)
g4 A0 EEFHAOQ Z2HE A0
X5 ®H (0~14%%) (15~64%%) (65mE LA L) TEHH
& H 124351,877| 14,173,245 11.4| 73,952,058 59.5| 36,226,574 29.1 -
Ik B2 1,929,669 222,826 115 1,074,490 55.7 593,154 30.7 39,199
BN 217,240 27,022 12.7 121,594 57.1 64,253 30.2 4,371
ESNIBAT 56,838 8,046 14.2 32,987 58.0 13,177 232 2,628
"R 98,594 12,128 12.3 56,709 57.5 28,220 28.6 1,537
IR ETET 8,092 1,055 13.0 4,608 56.9 2,344 29.0 85
Ly 5,688 842 148 2,993 52.6 1,852 32.6 1
JIIBHT 9,570 1,183 12.4 5,196 54.3 3,181 332 10
£ RET 3,082 243 7.9 1,352 439 1,487 482 -
J\EEHT 9,644 896 9.3 4,687 486 4,053 420 8
=Py 6,801 485 7.1 2,958 435 3,358 49.4 -
E4=011Es) 1,915 175 9.1 854 44.6 886 46.3 -
S ET 17,016 1,969 11.6 9,250 54.4 5,695 335 102
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